

## **Government of West Bengal**

Office of the Executive Engineer (North)

## West Bengal Tourism Development Corporation Limited

### Reginal Tourist Office, Siliguri

Mainak Tourism Property, Mallaguri, Siliguri P.O. & P.S. – Pradhan Nagar, Dist:- Darjeeling, Pin- 734003

Phone: (0353)-251-1979

Memo No.: 60/EE(North)/2024-25 Dated: 03.10.2024.

# NOTICE INVITING TENDER No. 02 OF 2024-25 OF EXECUTIVE ENGINEER (NORTH), WBTDCL, RTO OFFICE, SILIGURI-734003, Dist:- Darjeeling.

Sealed tenders in printed form specified below are invited for the following work from bonafide WBTDCL and eligible contractors and others as per G.O. and as per the particulars given in Annexure-I.

Tenders will be received by the Executive Engineer, WBTDCL, Tourism Department, Siliguri, Dist. Darjeeling (West Bengal).

Detailed Notice Inviting Tender Specifications, terms and conditions, schedule of items etc. may be seen in the office of the undersigned on every working day except holidays between 11.00 a.m. to 4.00 p.m. Intending tenderers shall have to produce up to date clearance of GST, Professional Tax, No Objection Certificate from A.R.C. and Demand Draft/Banker's Cheque or Cash at the time of submitting application for purchase of Tender Forms.

Earnest money will be received in the Form of Bank Demand Draft. Draft in favour of the West Bengal Development Corporation Limited, Kolkata.

Each and every intending tenderer who will be allowed to purchase tender papers should without any exception drop his tender duly quoting his rate. Any deviation from this will make the tenderers liable to be debarred from purchasing tender paper in future and or to such measure as the case may be as per rule.

Intending tenderers shall obtain the tender documents in advance to guard any complication due to possible absence of the Officer inviting tender from the Head Quarters. Intending tenderers will be required to produce documents of credentials regarding their past experience, financial ability and special aptitude for the type of work for which the tender has been called for to the satisfaction of the Executive Engineer, WBTDCL, Tourism Department, Siliguri, Dist. Darjeeling (West Bengal) to allow them to purchase tender papers. Executive Engineer, West Bengal Development Corporation Limited, Dist:- Darjeeling reserves the right to reject any or all the tenders received without assigning any reason thereof.

It may strictly be noted that payment for the works will be made after availability of the fund.

**Executive Engineer** 

West Bengal Tourism Development Corporation Limited

1.	Name of the Office	:	
			West Bengal Tourism Development Corporation Limited, Siliguri.
2.	Name of the Work	:	Supply and Fixing of 1200 lumen fittings and 6A power Plugs in the existing cottages incl. allied works of Bhorer Alo Tourism Property in the dist. of Jalpaiguri under WBTDCL.
3.	Earnest Money	:	1640.00
4.	Estimated Amount put to tender	:	81993.00
5.	West Bengal Printed Form	:	As stated in Annexure-I
6.	Price per set of Printed PriceSchedule and other papers	:	As stated in Annexure-I
7.	Last date & time for receiving of application for issue of Tender Form	:	25.10.2024 up to 17.00 Hrs.
8.	Date & time limit for purchase of Tender Form from this office	:	12.11.2024 up to 15.00 Hrs.
9.	Last date & time limit for receiving of Tender papers in the tender box lying in the chamber of the undersigned	:	18.11.2024 up to 13.00 Hrs.
10.	Time & Date of opening of Tender papers	:	18.11.2024 at 14.00 Hrs.
11.	Eligible Agency	:	As stated in Annexure
12.	Applicable Schedule of Rates	:	P.W. Schedule of Rates : 2017-18.
13.	Time of Completion	:	As stated in Annexure

N.B. In case of any unscheduled holiday or strike call on the opening of Technical bid date, the next working day will be treated as schedule or prescribed date for the same purpose.

Memo No: /1(6)/EE(North)/2024-25

#### Copy forwarded for information to:-

- 1) The Managing Director, WBTDCL, Salt Lake, Kollata-91.
- 2) The Superintending Engineer, WBTDCL, Salt Lake, Kolkata-91.
- 3) The General Manager-II, WBTDCL, Salt Lake, Kolkata-91.
- 4) The General Manager (North), WBTDCL, Mainak Tourism Property, Siliguri.
- 5) Sri Ratan Debnath, DBA, Assistant Manager(IT), WBTDCL, Salt Lake, Kolkata-91 with a request to upload in WBTDCL website .
- 6) Sri Shrawan Pradhan, DEO, WBTDCL, Siliguri with a requested to display in Notice Board.
- 7) Office Copy.

SAF

Dated: 03.10.2024

Executive Engineer

West Bengal Tourism Development Corporation Limited

Annexure-I

S. No	Name of Works	Estimated Amount (Rs.)	Earnest Money (Rs.)	W.B.F. Form No.	Time of Completio n (Days)	Eligibility of Agency
1	2	3	4	5	7	8
1.	Supply and Fixing of 1200 lumen fittings and 6A power Plugs in the existing cottages incl. allied works of Bhorer Alo Tourism Property in the dist. of Jalpaiguri under WBTDCL.	81993.00	1640.00	2911(ii)	10 days	Bonafide WBTDCL and eligible contractors and others as per G.O.

N.B. In case of any unscheduled holiday or strike call on the opening of Technical bid date, the next working day will be treated as schedule or prescribed date for the same purpose.

Executive Engineer

West Bengal Tourism Development Corporation Limited

Name of the Work:- Supply and Fixing of 1200 lumen fittings and 6A power Plugs in the existing cottages incl. allied works of Bhorer Alo Tourism Property in the dist. of Jalpaiguri under WBTDCL.

### :Price Schedule:-

Sl. No.	Description of Item	Unit	Quantit	Rate (Rs.)	Amount (Rs.)
1	Distribution wiring in 1.1 KV grade 2x22/0.3 (1.5 sqmm) single core stranded 'FR' PVC insulated & unsheathed copper wire (Brand approved by EIC) in suitable size PVC casing-capping (Precision make) with 1x22/0.3 (1.5 sqmm) single core stranded 'FR' PVC insulated & unsheathed copper wire for ECC, incl. necy. fittings etc. to light/fan/call bell point with Modular type switch (Brand approved by EIC) fixed on Modular GI / PVC switch board with top cover plate on wall incl. mending good damages to original finish. [PVC Casing-capping and Switch board both on surface] Average Run 5 mtr	10.00	point	₹ 705.13	₹ 7,051.30
2	Supply of 12W, 1200 lumen square type Sleek Surface LED Ceiling Light of Warm White Colour (3000K) with in build driver as per direction of EIC. (Model-philips SM250C or equivalent)	10.00	Nos	₹812.00	₹ 8,120.00
3	Fixing only single/twin fluorescent light fitting complete with all accessories directly on wall/ceiling by screws etc.	10.00	Each	₹ 92.02	₹ 920.20
4	Supply & Fixing 240 V, 6 A, 3 pin Modular type plug socket (Brand approved by EIC) with 6A Modular type switch, without plug top on 4 Module GI Modular type switch board with 3 Module top cover plate flushed in wall incl. S&F switch board and cover plate and making necy. connections with PVC Cu wire and earth continuity wire etc.	54.00	Each	₹ 403.39	₹ 21,783.06
5	Supplying and Drawing 1.1 KV single core stranded 'FRLS' PVC insulated & unsheathed single core stranded copper wire (Brand approved by EIC) of the following sizes in the prelaid polythene pipe and by the prelaid GI fish wire and making necy. connection as required. (make-POLYCAB/Finolex/ KEI) (a) 3 x 22/0.3 (1.5 sqmm)	100.00	RM	₹ 51.36	₹ 5,136.00
6	Supplying and fixing PVC casing-capping [Precision Make] on wall or ceiling, incl. necy. PVC fittings etc. and mending good damages to building works a)20mm size	100.00	RM	₹ 34.24	₹ 3,424.00

7	Supplying and fixing double door sheet steel (16SWG), powder coated cable end box for TPN DB horizontal / vertical enclosure with IP-42/43 protection, on angle iron frame on wall & mending good the damages to original finish with nuts bolts etc incl. provision for earthing attachment. 8 Way (Horizontal).	25.00	Nos.	₹ 894.52	₹ 22,363.00
					68797.56
				Add G.S.T@18%	12383.56
				Total with G.S.T.	81181.12
				L.W.C@1%	811.81
				Total-	81993.00

(Rupees Eighty One Thousand Nine Hundred Ninety Three Only).

Sorton 03.10.24

Executive Engineer
West Bengal Tourism Development Corporation Limited